


[image: LaCie:Desktop:LearnTheHarmonica.com:New site logos:learntheharpfinal1.jpg]
Here Comes the Sun (The Beatles)
Tabbed for diatonic harmonica by Liam Ward
Song key: A (A harp in 1st position)

   5      -4      5    4      5    4    -4    5
Here comes the sun, doo-un-doo-doo
5      -4      5    4        4    -4  4 
Here comes the sun, and I say 
 5   -4    4
It's all right

-2      -3//  4  -4       -2   4   -4        -2/   4   -4       -2    4   -4     
4    -3    -3//    -2    

 5   4    -4   5      5     -4    4  -3//   4    -4  4   -3// -2
Little darling, it's been a long cold lonely winter
[bookmark: _GoBack] 5   4    -4   5     5   -4      4     -3//     5    -4       4     -3
Little darling, it feels like years since it's been here

Alternative Verse avoiding bends:
8     7     -8      8              8    -8     7     -6     7     -8     7     -6     6
Little darling, it's been a long cold lonely winter
8     7     -8      8              8    -8     7     -6     8     -8     7     -7
Little darling, it feels like years since it's been here

  4*    -4     4    -3//   4  -4    4
Sun, sun, sun, here it co-omes

Alternative with blowbends:
8/   -8    7    -6     7    -8    7
Sun, sun, sun, here it co-omes
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Tab key:
4= four hole blow
2= two hole draw
-3/ = three hole draw, half step bend
-3/ = three hole draw, whole step bend
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Here Comes the Sun (The Beatles)
Tabbed for diatonic harmonic by Liam Ward
Song key. A Ch har n ¢ posiion)
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Alternatve with lowbends:

S, s, sum, here it coomes

Tabker
4= taur bt low
2= o hle o
3/ = thre bl drw, bl b
37/ = hree hote o, whole i bend




